Name : Set Algebra
Chapter : Sets
Grade : ICSE Grade VIII

EduSahara™ Assignment License : Non Commercial Use

. Which of the following are true?

a)AuUA'=p
b) AUA'=A
C)ANnA =
dAnA =A
e)AnA =0
fAUA'=0Q

(i) {a,e} (ii) {d,f,a} (iii) {c,e} (iv) {b,e,a} (v) {b,a}

. Which of the following are true with respect to set operations?

a) Intersection is associative

b) Intersection distributes over union

c) Union does not distribute over intersection
d) Union distributes over intersection

e) Intersection is not associative

(i) {a,b,d} (ii) {c,a} (i) {c,ed} (iv) {eb} (v) {cab}

. Which of the following are true with respect to set operations?

a) Intersection is commutative

b) Union is not commutative

¢) Union is associative

d) Intersection is not commutative
e) Union is commutative

(i) {b,a,c} (ii) {b,a} (i) {d,c} (iv) {a,c,e} (v) {b.,d,e}

. Which of the following are true?

a) A'nB'=(AnB)
b) A'nB'=A"uB
c) A'nB'=(AuB)
d) A'uB'=(AuB)
e) A'uB'=(AnB)

(i) {d,a,c} (ii) {b,e} (iii) {a,c} (iv) {c,e} (v) {b,ec}

. Which of the following are true?

a)An(BuC)=(AnB)u(AnCQC)
b)(AnB)nC=An(BnC)
c)(AuB)uC=Au(BuQ)
dAu(BnC)=(AuB)n(AuC)
e)An(BuC)=(AuB)n(AuC)
fy AuBnC)=(AnB)u(AnCQC)

(i) {e,d,a} (ii) {f,b} (iii) {ef,c} (iv) {a,b,c,d} (v) {e,a}



6.

10.

11.

If A= {4,3,8,5,2}, which of the following are true?

a) {5,3}cA
b) Ao8
c) 8cA
d) 8€A
e) 8EA

(i) {c.d,a} (i) {b,a} (i) {a,d} (iv) {c.d} (v) {eb,a}

If A and B are disjoint sets, which of the following are true?

a)AnB=0©
b)AuB=A
c) AcB
dAnB=A
e)BcA

(i) {c,a} (ii) {d,e,a} (i) {b,a} (iv) {a}

If A= {b,tw,Ix}, which of the following are true?

a) XxEA

b) {b,I1} cA
c) Aox

d)

e)

XCA
XEA

(i) {b,e} (ii) {d,a,b} (iii) {c,e,b} (iv) {a,b} (v) {ce}

Given sets A, B and C, where A c B < C, which of the following are true?

a)C>B
b) Cc A
c)BcA
d) @ cB
e)Bo A

(i) {b,a,d} (i) {a.d,e} (iii) {c,d} (iv) {b,c,e} (v) {b,a}

Which of the following are true?

a)An@=A
b)AUA=A
C)AUA=0Q
dAuvUD=A
e)AuDd =0

(i) {e,a,b} (i) {b,d} (iii) {c,d} (iv) {c,d,b} (v) {a,b}

If A c B, then which of the following are true?

a)A'—B
b) A
C)B:>A
d) A'cB
e)BcA

(i) {a,c} (i) {b,c} (iii) {c} (iv) {d,ec}



12. If A c B, then which of the following are true?

a)AnB=A
b)AuB=A
C)AnB=B
dAuUB=©
e)AuB=B

(i) {c,e} (i) {b,a} (i) {a,e} (iv) {d,b,a} (v) {c,e,a}

13. If A c B, then which of the following are true?

a)AuB=0©

b)A-B=0
c)B—-A=8B
dB-A=A
e)A—-B=B

(i) {c,b} (ii) {d,eb} (iii) {b} (iv) {a,b}

Given 5 sets A ={3,6,5,1},B ={5,6,3,1} ,C ={5,4,8,10,6,7,1},
14. D={17,19,11,14,13,16,15} and E ={9,6,4,10,5,8,2,3,1,7},
which of the following are true?

a)A«-»C
b) C
c)ACC
d) A
e)C<->D

(i) {b,e} (i) {d,e} (i) {b,e,d} (iv) {c,a,d} (v) {a,d}

15. For any two non-empty sets A and B, which of the following are true?

a)AnB=BnA
b)AnB=BUA
c)AuB=BnA
dAuUB=0©

e)AuB=BUA

(i) {a,e} (i) {b,a} (ii) {c,e} (iv) {d,b,a} (v) {c,e,a}



Assignment Key

1) (i) 2) (i) 3) (iv) 4) (iv) 5) (iv) 6) (iii)
7) (iv) 8) (i) 9) (ii) 10) (ii) 11) (iii) 12) (iii)
13) (iii) 14) (ii) 15) (i)
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